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(SCIENCE)
g_` : 4 KÊQ>o 15 {_{ZQ>

nyUmªH$ : 80

Roll No.Zm_m§H$
Sl.No. :

narjm{W©`m| Ho$ {bE gm_mÝ` {ZX}e …narjm{W©`m| Ho$ {bE gm_mÝ` {ZX}e …narjm{W©`m| Ho$ {bE gm_mÝ` {ZX}e …narjm{W©`m| Ho$ {bE gm_mÝ` {ZX}e …narjm{W©`m| Ho$ {bE gm_mÝ` {ZX}e …

GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) narjmWu gd©àW_ AnZo àíZ nÌ na Zm_m§H$ A{Zdm ©̀V… {bI| &

Candidate must write first his/her Roll No. on the question paper
compulsorily.

2) g^r àíZ hb H$aZo A{Zdm ©̀ h¢ &

All the questions are compulsory.

3) àË òH$ àíZ H$m CÎma Xr JB© CÎma-nwpñVH$m _| hr {bI| &

Write the answer to each question in the given answer-book only.

4) {OZ àíZm| _| AmÝV[aH$ IÊS> h¢, CZ g^r Ho$ CÎma EH$ gmW hr {bI| &

For questions having more than one part, the answers to those parts
are to be written together in continuity.
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IÊS> - AIÊS> - AIÊS> - AIÊS> - AIÊS> - A

SECTION - A

~hþM`ZmË_H$ àíZ -~hþM`ZmË_H$ àíZ -~hþM`ZmË_H$ àíZ -~hþM`ZmË_H$ àíZ -~hþM`ZmË_H$ àíZ -

Multiple choice question

1) àíZ g§»`m (i go xii) VH$ Ho$ àíZm| Ho$ CÎma H$m ghr {dH$ën M`Z H$a CÎmanwpñVH$m _| {b{IE &

Write the answer to the question upto (i to xii) in answer - book by selecting
the correct option.

i) nmXn ‘| OmBb‘ CÎmaXm¶r h¡ - [1]

A) Ob H$m dhZ

~) ^moOZ H$m dhZ

g) A‘rZmo Aåb H$m dhZ

X) Am°³grOZ H$m dhZ

The xylem in plants are responsible for -

A) Transport of water

B) Transport of food

C) Transport of amino acid

D) Transport of oxygen



3

S–123–Science (D & D) 1213

ii) AnM H$m CnMma H$aZo Ho$ {bE {ZåZ ‘| go {H$g Am¡f{Y H$m Cn¶moJ hmoVm h¡? [1]

A) EÊQ>r~m¶mo{Q>H$ (à{V O¡{dH$)

~) EZmbOo{gH$ (nr‹S>mhmar)

g) EÊQ>¡{gS> (à{V Aåb)

X) EÊQ>mgopßQ>H$ (g‹S>ZamoYr)

Which one of the following types of medicines is used for treating indigestion?

A) Antibiotic

B) Analgesic

C) Antacid

D) Antiseptic

iii) g~go H$R>moa VËd H$m¡Z gm h¡? [1]

A) gmoZm

~) Mm±Xr

g) qOH$

X) hram

Which is a hardest element?

A) Gold

B) Silver

C) Zinc

D) Diamond
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iv) BZ‘| go {H$gHo$ Ûmam A‘r~m ‘| ^moOZ AÝVJ«©hU hmoVm h¡? [1]

A) Hy$Q>nmX

~) n[adhZ

g) ^moOZ agYmZr

X) Ho$ÝÐH$

By which of the following does food intake place in Amoeba?

A) Pseudopodia

B) Transport

C) Food Vacuole

D) Nucleus

v) Xmo V§{ÌH$m H$mo{eH$m Ho$ ‘Ü¶ Imbr ñWmZ H$mo H$hVo h¢ - [1]

A) Ðþ{‘H$m

~) {gZopßQ>H$ Xama

g) E³gm°Z

X) AmdoJ

The gap between two neurons is called

A) Dendrite

B) Synaptic rift

C) Axon

D) Impulse
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vi) AmZwd§{eH$s H$m {nVm H$hm± OmVm h¡ - [1]

A) ‘oÊS>b

~) S>m{d©Z

g) AañVw

X) h¡ëS>oZ

Known as the father of genetics -

A) Mendel

B) Darwin

C) Aristotle

D) Helden

vii) {ZåZ ‘| go H$m¡Z gm nXmW© b¢g ~ZmZo Ho$ {bE à¶w³V Zht {H$¶m Om gH$Vm? [1]

A) Ob

~) H$m±M

g) ßbmpñQ>H$

X) {‘Q²>Q>r

Which one of the following materials cannot be used to make a lens?

A) Water

B) Glass

C) Plastic

D) Clay
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viii) ‘mZd ZoÌ H$m ^mJ Ohm± dñVw H$m à{V{~å~ ~ZVm h¡, dh h¡ - [1]

A) H$m{Z©¶m

~) n[aVm[aH$m

g) nwVbr

X) Ñ{ï>nQ>b ¶m ao{Q>Zm

The human eye forms the image of an object at its -

A) Cornea

B) Iris

C) Pupil

D) Retina

ix) {dÚwV Ymam CËnÞ H$aZo H$s ¶w{³V H$mo H$hVo h¢ - [1]

A) O{ZÌ

~) J¡ëdoZmo‘rQ>a

g) Eo‘rQ>a

X) ‘moQ>a

The device used for producing electric current is called a -

A) Generator

B) Galvanometer

C) Ammeter

D) Motor
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x) {ZåZ{b{IV ‘| go H$m¡Zgm O¡d‘mÌm D$Om© H$m CXmhaU Zht h¡? [1]

A) bH$‹S>r

~) Jmo~a J¡g

g) Zm{^H$s¶ D$Om©

X) H$mo¶bm

Which of the following is not an example of a bio-mass energy source?

A) Wood

B) Gobar - gas

C) Nuclear energy

D) Coal

xi) {ZåZ ‘| go H$m¡Z ghr Amhma l¥§Ibm H$m {Z‘m©U H$aVo h¢? [1]

A) Kmg, Johÿ± VWm Am‘

~) Kmg, ~H$ar VWm ‘mZd

g) ~H$ar, Jm¶ VWm hmWr

X) Kmg, ‘N>br VWm ~H$ar

Which of the following constitute a right food chain?

A) Grass, Wheat and Mango

B) Grass, Goat and Human

C) Goat, Cow and Elephant

D) Grass, Fish and Goat
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xii) Ob {Xdg H$~ ‘Zm¶m OmVm h¡? [1]

A) 20 ‘mM©

~) 22 ‘mM©

g) 20 Aà¡b

X) 23 Aà¡b

Water day is celebrated on which day?

A) 20 March

B) 22 March

C) 20 April

D) 23 April

2) àíZ g§»`m (i go vi) VH$ [aŠV ñWmZm| H$s ny{V© H$s{OE -

Fill in the blanks in question numbers upto (i to vi) -

i) M‘JmX‹S> VWm njr Ho$ n§I ...................... h¡& (g‘d¥{Îm/g‘OmV) [1]

The wing of a bat and bird __________ is. (Analogous/Homologous)

ii) CÎmb b|g H$s ’$moH$g Xÿar .................... hmoVr h¡& (YZmË‘H$/F$UmË‘H$) [1]

The focal length of the convex lens is ____________. (Positive/Negative)

iii) {d^dm§Va ‘mnZo H$s ¶w{³V H$mo ..................... H$hVo h¢& (A‘rQ>a/dmoëQ>‘rQ>a) [1]

The device that measuring the potential difference is called _________.
(Ammeter/Voltmeter)
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iv) Ob {dÚwV e{³V ................ D$Om© H$m òmoV h¡& (ZdrH$aU/AZdrH$aU) [1]

Hydro electric power is a ____________ source of energy.

(Renewable/Non-renewable)

v) AO¡d {ZåZrH$aU nXmW© gm‘mÝ¶V: .................. hmoVo h¢& (A{H«$¶/g{H«$¶) [1]

Non-biodegradable substance are ___________. (Inert/Active)

vi) n¥Ïdr H$m Vmn‘mZ ~T>Zo H$m ‘w»¶ H$maU ................ H$m hñVjon H$aZm h¡& (‘mZd/new) [1]

The main reason for the increase in the temperature of the earth is the
__________ intervention. (Human/Animal)

3) àíZ g§»`m (i go xii) Ho$ CÎma EH$ eãX `m EH$ n§{º$ _| {b{IE &

Answer the questions up to (i to xii) in one word or one line.

i) CaO(S) H$m gm‘mÝ¶ Zm‘ {b{IE& [1]

Write the common name of CaO(S).

ii) Xmo àmH¥${VH$ gyMH$m| Ho$ Zm‘ {b{IE& [½ + ½ = 1]

Write the name of two natural indicators.

iii) ‘mZd Ho$ ^moOZ H$s nmMZ {H«$¶m H$hm± nyU© hmoVr h¢? [1]

Where has the digestion process of human food is completed?

iv) Wm¶am°³grZ hm‘m}Z H$s H$‘r go H$m¡Zgm amoJ hmoVm h¡? [1]

Which disease is caused by deficiency of thyroxine hormone?
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v) Za hm‘m}Z H$m Zm‘ {b{IE& [1]

Write the name of male hormone.

vi) OrZ eãX {H$gZo àñVwV {H$¶m? [1]

Who introduced the word gene?

vii) A‘rQ>a H$mo {dÚwV n[anW ‘| {H$g H«$‘ ‘| Om‹oS>m OmVm h¡? [1]

In which series the ammeter is connected in electric circuit?

viii) AdjonU A{^{H«$¶m go H$m¡Zgo bdU àmá hmoVo h¢? [1]

Which salt is produce in precipitation reaction?

ix) ‘N>br H$m ‘w»¶ ídgZ A§J h¡? [1]

It is the main respiratory organ of fish?

x) Ordmí‘ Ho$ g‘¶ - {ZYm©aU {d{Y H$m Zm‘ {b{IE& [1]

Write the name of fossil dating method.

xi) {dÚwV Mwå~H$s¶ àoaU H$s ImoO {H$gZo H$s Wr? [1]

Who discovered electromagnetic induction?

xii) CFC H$m nyam Zm‘ {b{IE& [1]

Write the full name of CFC.
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IÊS> - ~IÊS> - ~IÊS> - ~IÊS> - ~IÊS> - ~

SECTION - B

bKw CÎmamË_H$ àíZ -bKw CÎmamË_H$ àíZ -bKw CÎmamË_H$ àíZ -bKw CÎmamË_H$ àíZ -bKw CÎmamË_H$ àíZ -

Short answer type question -

4) amgm¶{ZH$ g‘rH$aU H$mo n[a^m{fV H$s{OE& [2]

Define chemical equation.

5) VmOo XÿY Ho$ pH H$m ‘mZ 6 hmoVm h¡& Xhr ~Z OmZo na BgHo$ pH Ho$ ‘mZ ‘| ³¶m n[adV©Z hmoJm? AnZm CÎma
g‘PmBE& [2]

Fresh milk has a pH of 6. How do you think the pH will change as it turns into
curd? Explain your answer.

6) C^¶Y‘u Am°³gmBS> ³¶m hmoVo h¡? Xmo C^¶Y‘u Am°³gmBS>m| Ho$ Zm‘ {b{IE& [1 + ½ + ½ = 2]

What are amphoteric oxides? Give two example of amphoteric oxides.

7) Am°³grH$aU H$mo n[a^m{fV H$s{OE& [2]

Define oxidation.

8) Ý¶yb¡ÊS²>g H$m {Z¶‘ ³¶m h¡? [2]

What is Newland's law?

9) amgm¶{ZH$ JwUY‘m] Ho$ AmYma na YmVwAm| Ed§ AYmVwAm| ‘| EH$ A§Va {b{IE& [1 + 1 = 2]

Write one difference between metal and non-metal on the basis of chemical
properties.
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10) nwZ ©̂aU {H«$¶m {d{Y ³¶m h¡? [2]

What is feedback mechanism?

11) ‘mZd ‘| b¢{JH$ OZZ g§Mm[aV amoJ H$m¡Z go h¡? [2]

What are sexually transmitted diseases in human?

12) h‘mao eara ‘| J«mhr H$m ³¶m H$m¶© h¡? J«mhr Ho$ Zm‘ {b{IE& [1 + 1 = 2]

What is the function of receptor in our body? Write the name of receptor.

13) Z¶r ñnrerµO Ho$ CX²̂ d ‘| ghm¶H$ Xmo H$maH$ {b{IE& [1 + 1 = 2]

Write two factor lead to the rise of new species.

14) Kaoby {dÚwV n[anWm| ‘| loUrH«$‘ g§¶moOZ H$m Cn¶moJ ³¶m| Zht {H$¶m OmVm h¡? [2]

Why is the series arrangement not used for domestic circuits?

15) {H$gr {dÚwV n[anW ‘| bKwnWZ H$~ hmoVm h¡? [2]

When does an electric short circuit occur?

16) O¡d J¡g g§¶§Ì H$m ì¶dñWm AmaoI {MÌ ~ZmBE& [2]

Draw the schematic diagram of a bio-gas plant.
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IÊS> - gIÊS> - gIÊS> - gIÊS> - gIÊS> - g

SECTION - C

XrK© CÎmar` àíZ -XrK© CÎmar` àíZ -XrK© CÎmar` àíZ -XrK© CÎmar` àíZ -XrK© CÎmar` àíZ -

Long answer type question -

17) i) CXmgrZrH$aU A{^{H«$¶m {H$go H$hVo h¢?

ii) ~oqH$J gmoS>m Ho$ Xmo à‘wI Cn¶moJ {b{IE&

[1 + 2 = 3]
i) What is called a neutralisation reaction?
ii) Give two important uses of baking soda.

18) i) àH$me H$m namdV©Z {H$go H$hVo h¢?

ii) àH$me Ho$ namdV©Z Ho$ {Z¶‘ {b{IE&

[1 + 2 = 3]
i) What is reflection of light?
ii) Write the law of reflection of light.

19) i) h‘mao Am‘me¶ ‘| Aåb H$s ³¶m ŷ{‘H$m h¢?

ii) ‘mZd Ho$ nmMZ V§Ì (Amhma Zmb) H$s g§aMZm H$m {MÌ ~ZmBE&

[1 + 2 = 3]
i) What is the role of acid in our stomach?
ii) Draw the diagram of structure of human digestive (alimentary canal) system.

20) i) O¡d {d{dYVm {H$go H$hVo h¢?

ii) dZ g§ajU Ho$ Xmo Cnm¶ {b{IE&

[1 + 2 = 3]
i) What is called biodiversity?
ii) Write two measures of forest conservation.
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IÊS> - XIÊS> - XIÊS> - XIÊS> - XIÊS> - X

SECTION - D

{Z~§YmË_H$ àíZ -{Z~§YmË_H$ àíZ -{Z~§YmË_H$ àíZ -{Z~§YmË_H$ àíZ -{Z~§YmË_H$ àíZ -

Essay type question -

21) i) {ZåZ amgm¶{ZH$ g‘rH$aU H$mo g§Vw{bV H$s{OE -

BaCl2 + H2SO4  BaSO4 + HCl

ii) aoS>m°³g A{^{H«$¶m H$mo EH$ CXmhaU Ûmam g‘PmBE&

[2 + 2 = 4]

i) Balance the following chemical equations.

BaCl2 + H2SO4  BaSO4 + HCl

ii) Explain redox reaction with an example.

AWdm/OR

i) YmVw n[aîH$aU ³¶m h¡?

ii) YmVw n[aîH$aU H$s EH$ {d{Y H$mo g‘PmBE&

[2 + 2 = 4]

i) What is refining of metal?

ii) Explain an process of refining of metal.
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22) i) Y‘Zr¶mo Ed§ {eamAm| ‘§o H$moB© Xmo A§Va {b{IE&
ii) ‘mZd öX¶ H$s g§aMZm H$m {MÌ ~ZmBE&

[2 + 2 = 4]
i) Write any two difference between arteries and veins.
ii) Draw a diagram of structure of human heart.

AWdm/OR

i) d¥³H$mo ‘| ‘yÌ {Z‘m©U H$s à{H«$¶m H$m dU©Z H$s{OE&
ii) ‘mZd CËgO©Z V§Ì H$s g§aMZm H$m {MÌ ~ZmBE&

[2 + 2 = 4]
i) Describe the process of urine formation in kidney.
ii) Draw a diagram of structure of human excretory system.

23) i) ‘mZd ZoÌ H$s H$m¶©{d{Y H$m dU©Z H$s{OE&
ii) ‘mZd ZoÌ H$m Zm‘m§{H$V {MÌ ~ZmBE&

[2 + 2 = 4]
i) Describe the working method of human eye.
ii) Draw the labelled diagram of human eye.

AWdm/OR

i) {ZH$Q> - Ñ{ï> Xmof Ho$ H$maU Ed§ {ZdmaU {b{IE&
ii) {ZH$Q> - Ñ{ï> Xmof¶w³V ZoÌ H$m AmaoI {MÌ ~ZmBE&

[2 + 2 = 4]
i) Write causes and prevention of myopia.
ii) Draw a line diagram of myopic eye.
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